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Slug90: Corrected RMS (ppm): asym_usl

125

124

123

122

121

120 =

I-I-LI-I-|H-I-I-|-I-I-I

119 &

-|-I-I [ |-I -1

4899

Run Number

§
©
§
S
&
~
&
N
&
@
&
A
&
fo3)
©
v
&
©

-eo- Regression

-e- Lagrange




RMS(ppm)

24

22

20

18

16

14

Slug90: asy

m_usl: V oégr -Oeq (PPM)

_;. . . | 1 1
- | | | | | v | |
m | | | | | v | |
N | | | | | v | |
- | | | | | v | |
M | | | | | v | |
[ | | | | | v |

L. | | | | v | |
T | | | | | | | |
n | | | | | o | |
. | | | | | o | |

y i { . ' . if I 1
I | | | | | | |
L | | | | | v | |
— | | | | ' v | |
o | | | | | v | |
= : : : : : L : :
Li | i i N I Y I i [ N I Y
4889 4890 489; 489, 9893 4894 989889, 489g 4899

Run Number



(PPM)

450

400

350

300

250

200

150

100

50 %

Lagrange Corrections Width (ppm) by Eigenvectors

! | H I-|-I-I I-I-| THI |-I-I-I I-|-I ] LI-| I-I-Il|-|-l TTRTTTT

-8- Eigenvector 0
-@- Eigenvector 1
-o- Eigenvector 2
-8~ Eigenvector 3
-o- Eigenvector 4

Eigenvector 5

Run Number




w
o

Slope (ppm/um)

N
o
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Slug90: Slope : usl_vs _evMon3 (ppm/um)
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Slug90: Slope : usl_vs_evMon4 (ppm/um)
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